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F—L% A7 R - R 237 F—L%
NnN>42—B| 1,585 [ 2.0 2.0 1,589 |Fi&B
Fxo2>571 1,554 [ 0.0 4.0 2,030 |[Evvov357
na2—Al 1,741 | 3.0 1.0 1,639 |3y5—XB

RHK—TFA| 1,731 | 2.0 2.0 1,745 |iEH>7

FEA| 1,948 | 4.0 0.0 1,606 |3Y5>—XA
HEYZ>7 1,710 | 3.0 1.0 1,749 |[Angel s
SRAA| 1,645 | 4.0 0.0 1,576 |&iRHK—TC
€RJU>7B| 1,605 1.0 3.0 1,722 |€IRJUVSTA
megy)y—+r| 1,593 | 1.0 3.0 1,678 |®#iR:K—TB
ATy ILXl 1,614 | 2.0 2.0 1,582 |fRAIB
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F—L% A7 e - Be 237 F—L%
BAEY>7 1,743 | 4.0 0.0| 1,570 |[Evv o357
Nn>42—| 1,882 (4.0 0.0 1,843 |fEmTA

JJ)5—XA[l 1,593 | 3.0 1.0 1,592 |mm@yy—=+

#iR+~—7B| 1,597 | 3.0 1.0] 1,594 |Angels

€£RJIVSTA| 1,900 (4.0 0.0 1,103 |3y >—XB
FEB| 1,653 | 1.0 3.0 1,809 |iEv>7
Fxo>57| 1,597 | 2.5 1.5 1,573 |[$EAIB
FugA|l 1,793 | 3.0 1.0] 1,669 |[#v45ILX
NnNv2—A|l 1,844 (4.0 0.0 1,742 |&RK—TA
#iRx—TFcCc| 1,660 | 3.0 1.0] 1,600 |£RJH3>7B
3 B8k
F—L% A7 R - BR b =y F—L%
gRaAl 1,627 | 1.0 3.0 1,766 |V ST
gR;aB| 1,586 | 0.0 4.0 1,900 |BEZY357
£RAE—TA[ 1,564 | 0.0 4.0 1,730 |£RJIJVSTA
nv2—Al 1,717 (4.0 0.0 1,541 |FEB
Ay ILX| 1,667 (0.0 4.0 1,802 |mm')yvy—=+t
£RA—TB| 1,692 (0.0 4.0 1,864 |EvoHo357
nv2—B| 1,501 (1.0 3.0| 1,605 |£#iRJHS>7B
J)5>—XB| 1,051 [0.0 4.0 1,729 |£R‘K—7TC
J)5—XA| 1,527 0.0 4.0 1,759 |Angels
FigA| 1,834 [4.0 0.0 1,604 |%Exv>7




